®m W 21 b gl | ! 331gd ..1434zf.jg|3ﬁi;j@h;;:

oLy 3l 1 3L / A gaidt daln ¥ Ao pal) ARL 1 3L /A galdl Agla NI
hﬂﬁwu,m dl’”*c:“’t}"ﬂb’ﬂ”‘b'w — e Al 3 gD i ” g Al A0 ¢ Gl S plae y gl a1
[ PR ;
LSy Ul p e oo [ 5 e
(ki 12) = Jg e a0 sl = 1
S0l Siad A Gy 1| gl
&l ol A caluall 5 00 colgall o £l o
- Ll el £ Dol o gl A 2
g [ i : - LA s s ST o
(6] i o ol | 308 < haad A g3 el
B { LB el Slalia¥l Auli oo 4R 3 gadl Jas
05405 o Lpguad iy Lygwad - |
0.540.5 PW&‘JFMMN#”'WM‘J‘“*“’M | . . :‘:,dhui.,?.ﬂ-“l,;;wj
' Mwaq:wm' ¥ | 15 Uﬂsthpufmyhy_quu’d.wMﬁ*
(J,Isl}é]l,ywﬁi'm-mm = 5 -@'ﬁemayﬂaﬁuﬁ
0.5 ' | P o=
06 05 bl B i gl 2 - 2x] LA e .
¢ Al L oy dpladl | (9 PRI T IRUC I
g} s’*zcl';,—-_,_'c:”e ﬁ: . I | oo U plid G a0 000 3" A3 418 A A § gl -1 ,u,,,;;
1] 1] : s g oy T gl
gyl ldad gl - | 22 : (- Aad g ids B30 ¢ Ll i) |
s B S =2 |
i Wy + Sllnw‘—*% Sy 0,5 ;i&n L) su"“.;laﬂ
05 A
(06 (0 ¢y 05 | mmmmmmmmmmmeme- < 5 LD duh «i,%a:, !
Vi isadip] o | 88| e P b
05 3"“0’ ﬁs L.,‘: [.J’;n :hﬂ | 0'5 mEmmmmmmm—————— u,df's! “_p L‘I :l;. Y
ll:i 405 1 308 g thild s _ | 1 . s i =3
52 ds oo A Ay L
| o el g A L0
” Bl |
miby‘mmﬂ |
o {5 g o (010) .9 0 0000 K| 5 |
o U v i ks e pd gl _ i i
" () B 0 s 0 e 5 g B | 3 et i i e )
|£M B m‘“’“ tm
“ . [ biEs 08 1 A8 5 350 “z:-;;
b gl el Blgh Vs 7 5o 404 Bz gadl i) '- ' ) T
i o 0,25 galas gl | deda -]
Lyl § bl aglal 1Byl 2 || okl 10 05 43 ¥ b tpal _
‘J}ﬁ sl e d n:ls | ey -u}maw;:ﬁdpiw-
508 ] 5Ea 5 =5 M;Lj&-
Lalagf) daagl : (0 g b | 0.5 Slanly o priadly ol A .Mmm
m .
o b 05 mmmmmmmm e mmmm ol SH B e 2
toad| o e e A | I ———— iy
‘ lbad i 9 g sl ol - o i |
05 | 4 e a0 Pl - | e -d | |
QD G D sl 1l g ) - g:: = gh o) 010 ) il —
— e AT BN —
B | g3 il gl - 81| piat kL 0 R | O 5., T 8
05 gl B bl s i - 0,5 :l—_—-———---------"————-_ oAl G | s i) -4I
0.5 i i gy p - | 05 L Aty il Rt _ J
{ru)'iﬂd
05 (0 e ) Aablill i by B -
05 i
(sl ) § il panaclh oyt -
"3 'Md -
s ppaaiy. |
05 A ot -
‘ K i -
05 Sl - |
01
05 Ly - Aol
A o -
0o |1 a0 - gy ,
g b0 gy - |




Sead| 23

ol el 33l + L4113

A2013 8l 14 aal
4 1434 A8 palen 38 G314

o g eibacilt Satels EERPEREIERS S FLL] 132180 / a3 galdth £ gus gl

Ll bl Aell 4, B & g
Sy DUl b 01yl Lt iy By

Jo gl et Balg Dlonaal

What if you had to work today ?

A hundred years ago many children had to work. Some weren't even ten years old. Their
workday was often sixteen hours long. These children never went to school. They had no time to
play. They hardly ever got fresh air. How could this happen ?

Some children had no mothers or fathers who could look after them, Others had to take
care of their sick parents, Most were just helping their families carn cnough money to live.

Many people worried about such children. They forced the people who made the laws 1o do
something about this problem.

In 1916, a new law was passed. For the first time in the United States, young children were
not allowed to have jobs in factories.
People today understand that children need to rest and play. They know, too, that
schoolwork is the best kind of "job" for young minds,
Adapted from "Reading for content”
by Jane Cutler and Janet Joers,

PART ONE  (14pts)

A) Reading Comprehension  (07pts)
Read the text carefully and do the following activities :

Activity One (03ps):
Read the following statements and write "true"”, "false” or "not mentioned".

13 All the children had w go 1o school a cenury ago.
2) It was hard for some parents to look after their children.
3) Parents who sent their children to work had problems.

Activity Two_ (02pts):
Answer the following questions :
1) Did people feel concemed about children's work ?
2} Were their actions against children's work unsuccessful ?
Activity Three (02pts):
Find in the text words or phrases that ave closest in meaning to the following:

a) were obliged b the majority

©) not permitted d) relax =

B) Mastery of Language (07 pts)

Activity One (02 pts) :
Supply the punctuation and the capital letters where necessary.

all children should have the right to education they should also have the right to free - medical
care

Activity Two (03 pts):
Write the correct form of the verbs in brackets.

Years ago, children ( to not have to) go to school. Now, there's a law: children must (to stay)
at school i1l the age of sixteen. So, if some parents (to not respect) the law, they will be in
trouble.

Activity Three (02pts):
Find in the text four words that have the following sounds:

fe1/ (say) I a1/ (right)
1- I-
- 2-
PART TWO  (06pts)
Written Expression

A lot of children, in the world, do not go to school because they have to work to help their
parents. You feel concerned about this problem,
Write an article for your school magazine about children’s rights.
These hints can help yow:
- children's protection (education fhealth /ffood...)
- children's leisure ( games / sports ...)
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